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L SBHERER. 2. AAERFHK 5183 - FLEFER!
1. Prove that the given relation holds for all matrices A and scalars r, s € R.
(r+s)A=rA+sA
1-3 #27 (RABHEE)

2. Determine whether the vector b is in the span of the vectors v;. If so, write b into the
linear combination form.

p.s. Please solve the problem with the corresponding augmented matrix. Also mark
the row-echlon form and reduced row-echlon form of the augmented matrix.

. -3 0 1 3
b= |—1|,01=|2|,09=|4|,03=1]5
5 4 -2 3
Solution:
0 1 3 =3 1 00 2
augmented matrix: |2 4 5 —1|, reduced row-echlon form: |0 1 0 0
4 -2 3 5 001 —1

Yes! the vector b is in the span of the vectors vj;.

—

b=2-v1+0-v3 —v3

-3 0 1 3
-1 =2- (2| +0- [ 4| — 1|5
) 4 —2 3

octave:1> A=[0 1 3 -3; 24 5 -1;4 -2 3 5]

A —
0 1 3 -3
2 4 5 -1
4 -2 3 b5

octave:2> rref (A)
ans =
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